HW 2.1(b) Key

1. Susan and Jeff each make deposits of 300 at the end of each year for 30 years.

Starting at the end of year 31, Susan makes annual withdrawals of X for 18 years and Jeff makes annual
withdrawals of Y for 18 years. , Both funds have a balance of 0 after the last withdrawal.

Susan's fund earns an annual effective interest rate of 5.3%. Jeff's fund earns an annual effective
interest rate of 6.5%.

Calculate Y- X. [3.a-c #02]
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2. An investment requires an initial payment of 15,000 and annual payments of 1,300 at the end of each
of the first 13 years. Starting at the end of year 14, the investment returns 10 equal annual payments
of X.

Determine X to yield an effective rate of 7% over the 23 year period. [3.a-c #06]
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3. | | A person age 25 wishes to accumulate a fund for retirement by depositing an amount X at the end of
each year into an account paying 5.2% interest. At age 65, the person will use the entire account
balance to purchase a 18-year 6.4% annuity-immediate with annual payments of 60,000.

Find X. [3.ac #16]
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4. At an annual effective interest rate of 6.9%, an annuity immediate with 4N level annual payments of
500 has a present value of 6862.

Determine the fraction of the total present value represented by the first set of N payments and the third
set of N payments combined. [3.a-c #05]
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5. To be added.



